LEGAL DAMAGES

I. Purposes for damages

a. K liability

i. Imposed to protect limited interest of having the promises of others performed
b. Quasi contract

i. Created for prevention of unjust enrichment
c. Tort

i. Created for compensation for losses

II. General

a. To recover:

i. Damages must be foreseeable

ii. Damages must be calculable with reasonable certainty

iii. That D caused the harm must be certain

iv. P must have mitigated damages

b. Agreed remedies 

c. Punitive damages

III. Damages must be foreseeable

a. Contracts
i. Rule

1. 2 types of damages
a. General damages

i. Damages that an ordinary person would foresee as arising from this exact breach of this exact contract

1. *So, when an ordinary person would foresee the damages, the general damages are foreseeable 
2. Includes what is in K AND what an ordinary person would generally foresee

b. Consequential damages (aka special damages, indirect damages)
i. Damages that D is aware of b/c (damages that arise from special circumstances that an ordinary person would not know but that D knows):

1. P tells D OR
a. P must have told an authorized person/an agent of the D
2. D is in the business (R
3. D knew from some other way

4. *So, when the D has knowledge, the consequential damages are foreseeable

ii. Some states (WI, AR) require knowledge and tacit agreement to be bound by the loss
1. Tacit agreement = implied or indicated agreement to assume liability for such loss

2. Where damages are way out of proportion to K price, raises serious doubt about whether D tacitly consented BUT it really depends on what the odds are that someone took the risk
iii. When there is a “no consequential damages” provision
1. P can only recover general damages

a. P will try to argue that everything is in K or that an ordinary person would know a lot

b. UNLESS P can prove fraud in the inducement

c. *Person D talked to must have been authorized to adjust K

ii. Approach:
1. General damages

a. Identify what is in the K

i. Identifying what is in K b/c then know what the general damages are (what an ordinary person would foresee)
1. P’s argument 
a. An ordinary person would foresee these damages

i. B/c in K

ii. B/c an ordinary person would know even though not specifically in K

b. Expansive contract

i. P tries to put more into K 

c. Person had authority to bind or had apparent authority (held themselves out as having authority)
2. D’s argument
a. An ordinary person would not foresee these damages

b. Small contract
i. D tries to put less in K

c. Person had no authority to bind

2. Consequential damages

a. P’s argument

i. D had knowledge

1. P told D and person P told had authority to bind

2. D is the business so he knows

ii. Where there is a no consequential damages provision

1. There was fraud so the no consequential damages is not enforceable

a. But P still has to prove that D had knowledge of special circumstances

b. D’s argument

i. D doesn’t have knowledge

1. Person not authorized

2. P never told D

3. D is not in the business

ii. There was no tacit agreement

1. Argue disproportionality 
a. Consideration v. the amount of the harm

iii. Where there is a no consequential damages provision

1. There was no fraud

a. These are just puffing statements or “don’t worry”

2. If there was fraud, that D still did not have knowledge

3. Look at proportionality/disproportionality

a. Different ways to look at proportionality
i. Would someone take the risk (the amount of consequential damages) for the amount of the contract?

ii. What are the odds that the problem (breach) would occur that caused the consequential damages?

1. If odds are high, then less likely someone would take the risk

iii. If risk were being shifted, maybe should require a formal agreement

b. Torts
i. General rule

1. P MUST be in orb of danger (Palsgraf)
a. Scope of duty of care extends only to those who may foreseeably be harmed by the negligent act. 
ii. Then, look at predictability and amount of recovery

1. Different standards for foreseeability for when a P can recover

a. P can recover whenever someone has been negligent towards you, even for unexpected things (Polemis)

b. P can only recover if consequence was a probable consequence (Wagon Mound I)

c. P can recover even if it is an exceptional circumstance (Wagon Mound II)

d. If D creates a situation of negligence and the general type of harm that D created happens, the fact that D couldn’t predict exactly how it would happen is irrelevant (Kinsman)

i. If type of risk is similar to type of harm that occurs, then P can recover

e. Where D’s conduct was a substantial factor in bringing about harm, just b/c D didn’t foresee nor ought to have foreseen the extent of harm or the manner in which it occurred does not prevent him from being liable.  

i. BUT where it appears highly extraordinary that it should have brought about the harm, then not liable

IV. Certainty
a. General

i. Two parts:

1. Certainty in the amount of harm

2. Certainty that D caused the harm
b. Certainty in the amount of harm
i. When there is certainty

1. New rule

a. To recover, damages must be reasonably certain
i. Determining damages

1. Both sides can have experts testify as to what the likelihood of success would be 

ii. Damages must be established with proof which must consist of actual facts from which a conclusion can be reached (can bring in facts such as similar locations, similar owners)

2. Old rule (widely rejected)

a. New business rule: business not allowed to recover for lost profits unless there is some history P could point to

i. Court will not give money for lost profits because its too speculative when there has never been a business there before and the pl has never been in that business. 
ii. Certainty when damages based on future earning capacity

1. Rule

a. P can recover damages based on the impairment of future earning capacity

i. BUT maybe not where the probability of future earnings is not based upon any prior actual engagement in the vocational earning of income

b. 2 approaches
i. All or nothing

1. If evidence sufficient to find certainty and make an award, P can recover

ii. Uncertainties should be considered explicitly in arriving at a damages award
c. Certainty that D caused the harm
i. Two different tests (depends on jxn) to determine whether D caused the harm

1. All or nothing 

a. P must show by a preponderance of the evidence (50% + 1) that D caused the harm, then D liable for 100% of the harm

2. Loss of chance doctrine
a. P’s loss of chance b/c of D’s conduct can be recovered

i. P recovers for the percentage loss of chance that D caused

ii. *Only hold D to the percentage that he caused the loss

V. Mitigation (avoidable consequences)
a. A plaintiff (in contracts and torts) has an obligation to take reasonable steps to mitigate damages
i. Have to do what is reasonable at the time

ii. DOES NOT have to take extraordinary steps

1. Extraordinary = where poses peril to life, undue risks to health, and anguish that goes beyond reason

VI. Agreed remedies
a. When there was a liquidated damages (agreed remedy) provision but there is no harm, whether P can recover

i. 2 approaches

1. P can recover even where there is no harm

a. Proof of actual damages not required, at least in situations where damages could reasonably be anticipated at the time of contracting

2. P cannot recover where there is no harm
a. If the damage never occurs, to enforce the liquidated amount would amount in reality to the infliction of a penalty

VII. Punitive damages
a. General

i. Purpose of punitive damages

1. To punish D’s bad behavior

2. To deter D and others from behaving badly
3. Educate the wrongdoer and society

b. Torts giving rise to punitive damages

i. P can recover punitive damages where:
1. Conduct is malicious, willful, wanton or in reckless disregard of rights or interests 

2. NOT recoverable for mere negligence

ii. Determining amount of damages
1. Factors to consider to determine amount of punitive damages (determining whether punitive damage awards are excessive under the DP clause of the 14th amendment)
a. Degree of reprehensibility of D’s conduct

i. The more reprehensible, the higher the damages

1. When physical injury (rather than economic harm), the more reprehensible and the higher the damages

b. Ratio between actual harm and punitive damages
i. Rule

1. There needs to be a reasonable/rational relationship between harm caused by D and punitive damages

ii. No guidelines about what the ratio should be

1. The more egregious the behavior, the higher the ratio can be

c. Sanctions for comparable misconduct

i. Looks at civil/criminal penalties that can be imposed for comparable misconduct

1. If those are much higher, then maybe punitive damages are excessive

2. Only D’s behavior within the state can be considered to determine punitive damages

3. Other factors to determine punitive damages 

a. Seriousness of hazards

b. Profitability of the misconduct

c. Attitude and conduct on discovery of misconduct

d. Degree of manufacturer’s awareness of the hazard and of its excessiveness

e. The employees involved in causing or concealing the misconduct

f. The financial condition of the manufacturer and the probable effect thereon of a particular judgment

g. The total punishment the manufacturer will probably receive from other sources

iii. Approach:
1. Go step-by-step in a fact patter and determine whether at each step D’s behavior is outrageous
a. P will argue outrageous

b. D will argue not outrageous and/or that conduct was exemplary

c. Breach of Ks giving rise to punitive damages

i. Courts less willing to give punitive damages b/c don’t want to punish D for breach

ii. Rule

1. Can get punitive damages in a breach of K case where:

a. A tort was committed independent of the breach of contract OR
b. In CA, for bad faith breach, where D breached the covenant of good faith and fair dealing

i. Limited to insurance claims where money is needed immediately

VIII. Interest and prejudgment inflation
a. General

i. Interest

1. For every day X hasn’t paid or that X has money you gave him that he didn’t earn, you should get interest on that money because you could have taken that money and invested it.

ii. Prejudgment interest

1. The interest that would accrue from the time of the wrong until the final judgment. Typically you only get interest from the date of the breach/injury to the trial judgment. 

b. Rule

i. To award interest, damages must be determinable (P has to show harm)

ii. Typical rule
1. Damages determined at time of the loss/wrong or a reasonable time thereafter

a. So can get damages plus legal rate of interest from date of wrong up until date of trial

iii. But sometimes court will calculate damages at a later date from the date of breach where the remedial purpose of subverted

1. Prejudgment inflation: some courts may give the inflation rate (measure the cost of repair damages at the time of trial rather than at the time of the breach), looking at how much it would have cost to finish and adding interest. 

a. Court will give inflation rate if the date of breach amount would not be fair because it would not cover the cost of fixing because of inflation
b. Ex. Where P was going to use the money to do something else, but now it would cost more to do it now than before, then maybe allow for inflated value

IX. Attorneys fees

a. General rule

i. Each side pays his own attorney’s fees

b. But sometimes loser has to pay winner’s attorney’s fees

i. Where a provision in K says that party that wins gets attorneys fees

ii. Where someone brings a frivolous claim/witness/motion

EQUITABLE REMEDIES

I. General

a. Based on fairness 

b. Usually given in the form of an injunction - order someone to do or refrain from doing something

c. Usually decided by a judge

d. Equity protects both personal and property rights

e. Court considers ANY interest in giving/rejecting an equitable remedy

II. Rules
a. Should the court get involved?

i. Must involve a judicial controversy 

1. Is there another place where the issue can be heard?

2. Is this a typical case courts hear?

3. Incorrect decisions by football referees are not judicial controversies

ii. Weigh the interests
1. Court can consider ANY interest

2. Is there a highly protected or important right?

a. If yes, more likely to give an equitable remedy

b. Freedom of association was a highly protected right, so a $100 fine was insufficient to take away someone’s right to freedom of association

3. Is the P prevented from practicing a profession b/c he was denied admission to the association?

a. If P can’t practice profession, court will issue injunction

b. P denied an equitable remedy b/c couldn’t show that not being allowed in the order of the coif would prevent him from practicing a certain type of law or law in general

4. Courts don’t like to tell businesses/schools how to run themselves
5. Courts don’t want to issue injunctions where they would have to supervise

b. Is the legal remedy inadequate?
i. Where a money remedy is adequate, no need for an equitable remedy

ii. Money remedy can be inadequate where:

1. Accurate assessment of damages is difficult or speculative

2. Property/damages are unique

3. There is a danger of untold number of lawsuits

iii. When the legal remedy is illusory, an equitable remedy can be given

1. Ex. Husband promised to put wife as life insurance beneficiary but didn’t.  Generally, she could sue his estate and get a legal remedy.  But where his estate is bankrupt/insolvent, she wouldn’t actually get any money so the legal remedy is illusory.

iv. Court ordered producer’s name to be put on the credits b/c there was no way to determine how much business or publicity he lost

c. Are there any policy considerations?
i. Do we want government involved in this?

ii. Is this an area that is protected that we want the government to tell us what to do?

d. Is the equitable remedy feasible and practical?
i. Where unfeasible and impractical, less likely to grant remedy

ii. Can deny equitable relief based on judicial resource limitations

1. Weigh the importance of the right to the amount of resources available

2. Look at what constitutes performance

iii. The decree/injunction must be specific enough to give the defendant notice to comply and how to comply

e. Is there a public interest?

i. Public interests can be considered in determining whether to grant an injunction

ii. If there is a great public benefit, court can issue injunction

f. Balance the equities and hardships

i. What benefits and harms are there to P if injunction is issued or not?

ii. What benefits and harms are there to D if injunction is issued or not?

iii. What benefits and harms are there to the court if the injunction is issued or not?

iv. What benefits and harms are there to others if the injunction is issued or not?

III. When equitable remedies can be denied

a. Unclean hands

i. Rule

1. Court can bar equitable relief where party who seeks equity is guilty of some unethical conduct or didn’t not act in good conscience regarding the transaction 

a. Person must have unclean hands in acquiring the right he know asserts (unclean hands must have been acquired in relation to the transaction)

ii. Application

1. *All parties are subject to unclean hands doctrine

2. Where no harm is done, cannot have unclean hands

3. Where there is a tie as to their unclean hands, the party seeking equitable remedy usually loses

4. Where there is a paramount interest in giving the equitable remedy, the unclean hands do not bar recovery

5. Unclean hands exists when party defrauded creditors

b. Estoppel

i. General

1. Estoppel prevents a party who has misrepresented a fact from denying his representations regarding that fact

2. Can bar a P’s recovery in equity

3. For estoppel to apply:

a. The recipient of the representation must have justifiably relied upon the fact asserted AND 

b. This reliance must substantially prejudice the party who relies

ii. Rule

1. Estoppel applies where:
a. The other party misrepresented or concealed material facts AND

i. Identify the material facts

1. Look at what was said that made the party claiming estoppel do something different from what he would have done

b. The other party knew at the time they made their representations that the representations were untrue AND

i. *Not all states required this

c. The party claiming estoppel did not know that the representations were untrue when the representations were made and when they were acted upon AND

d. The other party intended to reasonably expected the representations to be acted upon by the party claiming estoppel or by the public generally AND

e. The party claiming estoppel reasonably relied upon the representations in good faith and to their detriment AND

f. The party claiming estoppel has been prejudiced by his reliance on the representations

g. *Often can only prove this by inferences from what was said, not by the exact words
c. Laches

i. General

1. Bars party seeking equitable relief from recovery

2. Most courts limit the defense of laches to equitable actions

ii. Rule

1. Unreasonable delay in pursuing a claim in equity which prejudices the adversary constitutes a bar to recovery although the SoL has not run on the claim 

a. So:

i. Was there unreasonable delay in pursuing a claim AND

1. UNLESS the delay was excusable

ii. Does the unreasonable delay prejudice the adversary?

iii. Application

1. Court finds prejudice where D has incurred substantial expense and/or will have to incur additional expense to undo what it has done b/c of P’s delay in mounting a legal challenge to D’s action

IV. Right to a jury trial

a. General

i. Typically

1. Juries will decide questions of legal remedies

2. Judges will decide questions of equitable remedies

ii. 7th amendment guarantees the right to a jury trial for civil matters over $20

V. Enforcing equitable decrees
a. General

i. Contempt

1. If a D doesn’t comply with an injunction, one way to enforce the injunction is to put the D in contempt of court 

2. There are 2 types of contempt – civil contempt and criminal contempt

ii. Requirement that the decree be specific

b. Civil contempt v. criminal contempt

i. 2 questions:

1. Who does the fine go to?
2. Can you get out of contempt

ii. Civil contempt

1. The fine goes to the other party

2. By obeying the order, you can get out 

a. Contemptor holds the key to get out, just has to comply with court’s request

3. Rights at a civil contempt hearing

a. No right to attorney

b. Preponderance of the evidence standard

iii. Criminal contempt

1. The fine goes to the state

2. No matter what you do, you cannot get out of contempt

3. Rights at a criminal contempt hearing

a. Right to a hearing

b. Right to an attorney

c. Right to remain silent

d. Proof beyond a reasonable doubt

c. Requirement of specificity of the decree

i. For a decree to be valid, it must be comprehensible and understandable

1. Policy

a. D has to be on notice of what he is supposed to do and if the decree is not specific, he is not on notice

ii. When creating an injunction, you make it enforceable against the parties who have the ability to control the issue

iii. When a party is unable to comply with an injunction, he cannot be held in contempt for violating the injunction

VI. Injunctions as provisional-procedural remedies
a. General
i. 2 types of provisional remedies:

1. Temporary restraining orders

2. Preliminary injunctions

ii. The remedies temporarily stop D from doing what P is seeking prior to the claim being decided

1. Issued when P needs something done very quickly

iii. Process:

1. Should the injunction be issued?

2. Did P post a bond?

3. Does the D have notice of the hearing and/or is notice required?
4. Did the D or other people have notice of the injunction so as to bind them by the injunction?
b. Application
i. Factors to consider in determining whether a TRO or PI should be issued:

1. 4 factors

a. Whether the moving is likely to succeed on the merits

b. Whether the moving party would suffer an irreparable injury if the preliminary injunction is not granted

c. Whether a preliminary injunction would cause substantial harm to others

d. Whether a preliminary injunction would be in the public interest

2. Other factors (basically the same as above, but phrased a bit differently)

a. Irreparable injury

b. Balance of hardship to P if the preliminary injunction is not granted contrasted with hardship to D in light of a bond mitigating this hardship

c. Likelihood of P’s success on the merits

d. The public interest

ii. P generally must post a bond before a TRO or PI is issued

1. P must give security in an amount determined by the court to be proper to compensate for costs or damages that may be suffered from D who was wrongfully enjoined or restrained 

iii. Notice of TRO/PI hearing 
1. A defendant must have notice of the preliminary injunction hearing (before hearing of issuance of TRO occurs)

a. Exception
i. A TRO can be granted without written notice or oral notice to D or his attorney if:

1. Immediate and irreparable injury, loss, or damage will result to the applicant before the adverse party or his attorney can be heard in opposition AND

a. This is shown through facts from an affidavit or verified complaint

2. The applicant’s attorney certifies to the court in writing the efforts that have been made to give notice and the reasons supporting his claim that notice is not required
iv. Binding persons in the decree
1. Rule
a. Injunctions and restraining orders are binding upon:

i. Parties to the action AND

ii. Parties’ officers, agents, servants, employees, and attorneys AND

iii. Those persons in active concert or participation with parties’ who receive actual notice of the order by personal service or otherwise

1. *So for people working in concert w/ parties’ or their agents to be bound by the injunction, they must have actual notice of the injunction

2. *Can require actual D to give notice to people who need to comply with injunction in order for D to comply with the injunction and if D doesn’t the court can hold him in contempt

RESTITUTION
I. General – the nature of restitution
a. General rule

i. A person who is unjustly enriched at the expense of another is liable in restitution to the other. 

b. Restitution (unjust enrichment) deals with 2 questions

i. Was there enrichment?

ii. Was the enrichment unjust?

c. Restitution can be used differently 

i. Can be used as an alternative remedy for a cause of action
1. Suing in quasi-contract instead of under a cause of action

a. When P waives an existing cause of action and sues under implied contract, P can recover either:

i. The reasonable value of the property taken OR

ii. The value of the subsequent sale

b. ANY enrichment to D is per se unjust
c. Steps:

i. Is this restitution as an alternative remedy?

ii. Was there enrichment?

1. If yes, then the enrichment does NOT need to be unjust for P to recover

d. Ex. D takes P’s goods.  D sells the goods for $500.  The value of the goods is $1000.  Cause of action is conversion.  P can sue for conversion and get the value of the good OR P can sue for restitution under an implied contract and get the value of the good.

ii. Can be used as the sole remedy (free standing restitution)
1. Situation

a. P does work for D and P doesn’t get paid 

2. Steps:
a. Is there enrichment?

b. Is the enrichment unjust?

i. *The enrichment must be unjust for P to recover
ii. Is the person a volunteer?

1. Generally, volunteers cannot get paid in restitution

2. If NOT a volunteer, then enirhcment is unjust and P is entitled to restitution

a. No volunteer – did work legitimately
i. Where P was legitimately contracted to do work by someone with legal right to ask him to do it AND P did the work
II. Acceptance of benefits
a. General

i. Two questions:

1. Is there enrichment?

2. Was the enrichment unjust?

b. Rule

i. Where one permits another to perform services for him, the law raises an implied promise to pay the reasonable value of the services OR
ii. When services are rendered and received, a contract of hiring or an obligation to pay what they are reasonably worth will generally be presumed OR

iii. If an attorney renders valuable services, to one who has received the benefit, a promise to pay the reasonable value of such services is presumed unless the circumstances establish the fact that such services were intended to be gratuitous 
c. Application
i. Where certain people refused to pay, but attorney did work for someone else where those certain people were benefited, attorney’s work was gratuitous as to those certain people
III. Unsolicited benefits and volunteers

a. Rule
i. A person who officiously confers a benefit upon another is not entitled to restitution 

1. Where someone is a volunteer, generally NOT entitled to restitution

b. Application

i. 2 concepts to when someone shouldn’t get restitution

1. D’s right of free choice 
a. Someone who confers a benefit on another through their services shouldn’t require the other to pay unless the person conferring the benefit had a valid reason for doing so
b. A person should not be required to become an obligor unless he so desires

2. When someone is a volunteer

a. What is a volunteer?

i. Where someone does something without any request by another, likely to be a volunteer and probably won’t get restitution 

ii. Exceptions – when someone can get restitution even if a volunteer
1. General

a. Can get restitution where:

i. Saved another person’s property

ii. Gave unsolicited medical services or preserved life

iii. SOMETIMES for payment of another’s debt or performance of another’s obligation

iv. Where P justifiably performs for the other a duty imposed upon him by law

2. Saving another person’s property
a. Rule
i. A person is entitled to restitution for saving another person’s property from damage or destruction if:

1. The person saved another’s property from damage or destruction AND

a. Damage must have occurred had P not acted (this does not say “the likelihood of damage or destruction)

2. The person was in lawful possession of the property (or lawfully took possession of it) AND

a. Can argue that P was protecting his own interest

b. Can argue that P was just being neighborly

c. D would often argue that P was trespassing and so was not in lawful possession 

3. It was reasonably necessary to act before the owner could be contacted AND

a. Say what the damage would be DO NOT just say that damage would happen

4. The person had no reason to believe the owner did not desire such assistance AND

a. Where P did a good job, more likely that D would want it

b. D’s argument

i. Freedom of choice

5. The person intended to charge for the services (or to retain the property if the owner was not found) AND

a. Generally, courts assume that the P’s effort was inspired by altruism or benevolence 

b. BUT, more likely to find intent to charge where:

i. Professional services are rendered to meet an emergency AND 

ii. When the salvor’s conduct is based on a reflective consideration of the stakes AND 

iii. When it entails prolonged and costly effort

6. The property has been accepted by the owner AND

a. Owner’s non-acceptance CAN be irrational (if no acceptance, then no restitution)

b. Non-acceptance can be taking apart what P did or taking it down

c. Acceptance would be leaving it there

7. Owner’s autonomy must be respected
a. D should get to decide for himself what he wants (freedom of choice)

3. Unsolicited medical services or preservation of life

a. Rule
i. A person who confers a benefit on another (without mistake, coercion, or request) IS NOT entitled to restitution

1. EXCEPT where the benefit was conferred under circumstances making such action necessary for the protection of the interests of the other or of 3rd persons

ii. A person who has performed the noncontractual duty of another by supplying a 3rd person with necessaries which in violation of such duty the other failed to supply, although acting without the other’s knowledge or consent, is entitled to restitution therefore from the other if he acted unofficiously and with intent to charge therefore

1. To recover restitution:
a. A person must done something that he had no contractual duty to do AND

i. This person can be a doctor

b. The thing that the person did must have been something that another person had a duty to do but failed to do AND
c. What the person did must have been to supply a 3rd person with necessaries AND
d. Person acted without the other’s knowledge or consent AND
e. Person must have acted unofficiously AND
f. Person must have acted with intent to charge for what he did
iii. A person who has performed the duty of another by supplying a 3rd person with necessaries, although acting without the other’s knowledge or consent, is entitled to restitution from the other if:

1. He acted unofficiously and with intent to charge therefore AND

2. The things or services such supplied were immediately necessary to prevent serious bodily harm to or suffering by such person

3. SO:

a. Did the person perform the duty another had the duty to perform?

b. Was the act to supply a 3rd person with necessaries?

c. Person acted without the other’s knowledge or consent AND

d. Did the person act unofficiously?

e. Did the person intend to charge?

f. Was what was provided immediately necessary to prevent serious harm to such person?

4. Usually applies for ambulatory services

4. Payment of another’s debt or performance of another’s obligation

a. General rule
i. Restitution IS NOT granted to one who voluntarily discharges another’s obligation

b. Exceptions to general rule (where someone can get restitution)
i. Where the debt or obligation was discharged by mistake

ii. Where payment of another’s debt when payment is made to protect an interest of the payor

1. Protecting your own good will IS NOT protecting a payor’s interest 

iii. Where payor has a moral obligation to pay
1. Ex. Insurance company had a moral obligation to pay the insured so that the insured could continue what he was doing while the insurance company investigated the claim

c. Application

i. Where P paid of D’s debt, even though D will gain an unearned benefit if the P is denied relief, P should lose when: 
1. P has no one to blame but his own negligence and inattention 
2. P was an intermeddler and officiousness is not to be encouraged
3. P’s good faith was apparently questionable
4. P had no motive of self interest; he was not protecting any interest which he had or thought he 
had; nor was he discharging any duty which he owed or thought he owed
5. P was not related to, or even friendly with debtor, nor was he protecting any interest of theirs.
6. To give P restitution would be to substitute him for the bank as a creditor of the debtor without the consent of either the bank or the debtor

5. Where P justifiably performs for the other a duty imposed upon him by law

a. Ex. If you take your car in for service and the lot determines that you need breaks, the lot can put in breaks without asking you.  If you say that you won’t pay the lot, you probably have to pay.  The lot though has a duty by law to not give you the car or else it won’t be safe.  

IV. Measures of unjust enrichment
a. Rule

i. Measure of recover in quantum merit is the reasonable value of services, provided they were of direct benefit to the D

1. DO NOT measure the value of her services by the value by which D has benefited as a result

V. Equitable remedies for unjust enrichment
a. 2 ways to set up an equitable remedy

i. Get a:

1. Constructive trust

a. General

i. Person wrongly takes property from you and it goes up in value, they hold that extra money for you as a constructive trust. 

ii. The person who owns/has control of the property holds the property in a (constructive) trust where that person is a constructive trustee 
b. Ex: someone steals your painting that you bought for $500. They sell it for $20,000. It went up in value, that’s what you want. 

2. Equitable lien
a. If it goes down in value, you have an equitable lean and can get the difference.  

b. Ex: paid $500 but thief sells it for $300. You want the $500. 

b. Application

i. As between 2 innocent people, first in time prevails, unless the 2nd party can prove they were a bona fide purchaser for value
ii. Leniency in tracing – don’t want D to get away with something on a technicality

1. Where D had something that claimant is entitled to but D acquires another asset of known value as a replacement for what claimant is entitled to, D owes restitution to a claimant who could have enforced against the holder an agreement to preserve or replace that asset

a. A constructive trust or lien will be imposed on the holder’s interest

iii. When money is stolen and used and there is an increase in value, the victims of the theft get the increase (percentage increase of amount of money from theft) and not just the amount of money that was stolen

1. *Crime doesn’t pay
c. Tracing

i. General

1. This is used to determine what restitution the claimant(s) is entitled to from D

2. 3 methods
a. FIFO – first in, first out

i. The first money put in the account is the first to be withdrawn

b. LIFO – last in, first out

i. The latest money put in the account is the first to be withdrawn

c. Learned Hand method – percentage method

i. Gives you percentage of the fund based on what has happened to your money after you put it in

3. 3 variations of the tracing methods

a. *Variation is NOT a tracing method, it is a variation on an already existing tracing method

i. Hallett 

ii. Oatway 

iii. Restoration

ii. Learned Hand

1. General 

a. Gives P percentage of the fund based on what has happened to P’s money after it was put it in

b. Whatever percentage of P’s money was used to purchase something is the percentage of money P can get

	Event
	Account
	D 
	A
	B

	Theft A ($2000 put in account)
	2
	--
	2 (100%) = $2000

**100% of the entire fund is put in from A
	--

	Theft B ($2000 put in account)
	4
	--
	2 (50%) = $2000

**50% of the entire fund is put in from A
	2 (50%) = $2000

**50% of the entire fund is put in from B

	Vacation taken ($2000 taken out of account)
	2
	--
	1 (50%) = $1000

**50% of the entire fund is taken from A
	1 (50%) = $1000

**50% of the entire fund is taken is from A

	D puts money in ($2000 put in account)
	4
	2 (50%) = $2000

**50% of the entire fund is put in from D
	1 (25%) = $1000

**25% of the entire fund is put in from A
	1 (25%) = $1000

**25% of the entire fund is put in from A

	Land purchased ($2000 taken out of account)
	2
	1 (50%) = $1000

**50% of the purchase price (of the entire fund) is taken from D’s account
	.5 (25%) = $500

*25% of the purchase price (of the entire fund) is taken from A’s account
	.5 (25%) = $500 

**25% of the purchase price (of the entire fund) is taken from B’s account

	Gambling ($2000 taken out of account)
	0
	--
	--
	--


2. Application

a. Make a chart and determine the percentages

i. Determine what money purchased things and the percentage of P (or someone else’s money) that was used to purchase those things

b. Apply equitable arguments to see if the court will distribute the money this way

i. Ps will argue

1. D shouldn’t be able to extinguish his debt with stolen money

a. So D shouldn’t get money AND

b. Creditors shouldn’t get money 

2. We are innocent and didn’t voluntarily deal with D

3. Creditors are innocent BUT voluntarily dealt with D so they shouldn’t get the money

ii. Creditors will argue

1. We are innocent, we should get our money and then have P(s) split the remainder

iii. D will argue

1. I used the money and took risks, I should get to extinguish the debt so the creditors should get the money

2. A and B should just get the money that was stolen from them, not any increase in value

iii. FIFO
1. General 

a. First in, first out – first withdrawals are made from the first deposit

	Event
	Account
	D
	A
	B

	Theft A
	2
	--
	2
	-

	Theft B
	4
	--
	2
	2

	Vacation

**Comes out of A’s account b/c A’s money went in first (A’s money bought the vacation)
	2
	--
	--
	2

	D’s funds
	4
	2
	--
	2

	Land

**Comes out of B’s account b/c A’s money ran out and B was the next in (B’s money bought the land)
	2
	2
	--
	--

	Gambling
	0
	--
	--
	--


2. Application

a. Determine who owns what based on whose money paid for it

b. Apply equitable arguments

iv. LIFO
1. General 

a. Last in, first out – the last person whose money went in is where the first money is taken out of 

	Event
	Account
	D
	A
	B

	Theft A
	2
	--
	2
	

	Theft B
	4
	--
	2
	2

	Vacation

*B’s money is out (The money that bought the vacation)
	2
	--
	2
	--

	D’s funds
	4
	2
	2
	--

	Land

**D’s money is out (the money that bought the land)
	2
	--
	2
	--

	Gambling
	0
	--
	--
	--


2. Application

a. Determine who owns what based on whose money paid for it

b. Apply equitable arguments

v. Variations to the 3 methods
1. General

a. There are 3 variations to the 3 methods

i. Hallet

ii. Outway

iii. Restoration

b. Any variation can go with any method

2. Hallet

a. Rule

i. Presumption that all withdrawals were of the wrongdoer’s own funds until those funds were exhausted

ii. For the Hallet method to be used, 2 conditions must be met:
1. Money must be coming out of the account AND

2. D must have money in the account

3. *If both conditions are met, then Hallet is used and the money coming out of the account is D’s funds

b. Application

i. Hallett with Hand

Hand modified by Hallet

	Event
	Account
	D
	P1
	P2

	D’s funds
	2K

*Don’t use Hallet b/c money not coming out of account


	2K

*100%
	--
	--

	Theft from P1
	4K

*Don’t use Hallet b/c money not coming out of account
	2K

*50%
	2K

*50% 
	--

	Painting


	2K

*Money is coming out of the account and D has money coming into the account, SO use D’s money
	--

*D’s money used to buy the painting
	2K

*100%
	--

	Theft
	4K

*Don’t use Hallet b/c money is not coming out of the account
	--
	2K

*50%
	2K

*50%

	Races
	2k
*Money coming out of the account but D doesn’t have money in the account, so use the other money in the account
	--
	1K

*50%


	1K

*50%

	Stock
	0K

*Don’t use Hallet b/c D doesn’t have any money in the account
	--
	--

*P1’s 50% used to buy stock
	--

*P2’s 50% used to buy stock


1. D’s money was used to purchase the painting, so when the painting increases in price to 18K, D gets 18K
2. Both P1 and P2’s money were used to purchase the stock, so when it increases to 12K, P1 and P2 each get 6K

3. ??DO WE STILL MAKE EQUITABLE ARGUMENTS??

ii. Hallet with FIFO

FIFO with Hallet

	Event
	Account
	D
	P1
	P2

	D’s funds
	2K

*Money is not coming out, so don’t use Hallet
	2K
	--
	--

	Theft P1
	4K

*Money is not coming out, so don’t use Hallet
	2K
	2K
	--

	Painting
	2K

*Money is coming out of account and D has money in the account, so use D’s money
	--

*D’s money used to purchase painting
	2K
	--

	Theft P2
	4K

*Money not coming out, so don’t use Hallet
	--
	2K
	2K

	Races
	2K

*Money is coming out, but D doesn’t have money in the account so don’t use Hallet, just use traditional FIFO
	--
	--

*P1’s money used on races
	2K

	Stock
	 0

*Money is coming out, but D doesn’t have money in the account, so don’t use Hallet, just use traditional FIFO
	
	
	--

*P2’s money used to purchase the stock


iii. Hallet with LIFO

LIFO w/ Hallet

	Event
	Account
	D
	P1
	P2

	D’s funds
	2K

*No money coming out of account, so don’t use Hallet
	2K
	
	

	Theft P1
	4K

*No money coming out of account so don’t use Hallet
	2K
	2K
	

	Painting
	2K

*Money coming out and D has money in account, so use D’s money

**If just using plain LIFO, then P1’s money would be used b/c last money in, but Hallet trumps plain LIFO
	--

*D’s money used to purchase painting
	2K
	

	Theft P2
	4K

*No money coming out of account so don’t use Hallet
	--
	2K
	2K

	Races
	2K

*Money coming out of the account but D doesn’t have money in the account, so don’t use Hallet
	--
	2K
	--

*P2’s money used in races b/c his money was the last in



	Stock
	--

*Money coming out of the account but D doesn’t have money in the account, so don’t use Hallet
	--
	--

*P1’s money used to purchase stock b/c P1’s money last in the account
	--


3. Oatway method

a. General

i. This method is used so that the righdoer, not the wrongdoer, prospers

b. Rule

i. P has the option of using Hallet OR

ii. Tracing

1. Doesn’t specify which tracing method, so P can use any tracing method or just say that the rightdoer is prospering

2. If the method of tracing used in the jxn results in D prospering, P doesn’t have to use that method
c. Application

i. FIFO and Oatway

FIFO and Oatway

	Event
	Account
	D
	P1
	P2

	D’s funds
	2K
	2K
	
	

	Theft P1
	4K
	2K
	2K
	

	Painting bought
	2K

*Money coming out of the account and D has money in account, so P1 can use Hallet if chooses

*There is only one rightdoer in the account (P1). So P1 can choose between Hallet’s method (do I want to use Hallet’s method – would result in D buying the painting) OR tracing.  

But before P1 answers, P1 wants to look at the rest of the chart to see how it comes out – whether P1 would do better off by having wrongdoer’s money come out now.  

If P1 doesn’t choose Hallet, does P1 want to use method of jxn?  If uses FIFO, D’s money used anyway.

If P1 doesn’t choose Hallet, what method does P1 choose?  Only under LIFO would P1’s money be used.
	
	
	

	Theft P2
	4K
	2K
	--
	2K

	Races
	2K

*money coming out and D has money in, so P2 can choose Hallet or tracing

Rightdoer will want to use D’s money b/c the money will go away.  Can use Hallet, or FIFO, or just say that he wants wrongdoer (D) not to prosper.  


	--
	--
	2K

	Stock
	0

*P2 will choose to do LIFO or just that he doesn’t want wrongdoer to prosper
	--
	--
	--


1. If P1 chooses with the painting to use LIFO, then P1 gets the painting

2. If P2 chooses w/ the races to use Hallet, FIFO, or just that he doesn’t want wrongdoer to prosper, D’s money pays for races

3. If P2 chooses with the stock to use LIFO or that the wrongdoer doesn’t prosper, P2’s money gets the stock
ii. Hand with Oatway
Oatway and Hand

	Event
	Account
	D
	P1
	P2

	Theft A
	2K
	
	2K

*100%
	

	Theft B
	4K
	
	2K

*50%
	2K

*50%

	Vacation
	2K


	
	1K

*50%
	1K

*50%

	D’s funds
	4K


	2K

*50%
	1K

*25%
	1K

*25%

	Land
	2K

*Is money coming out of the account AND does D have money in the account?

Yes, so each P has a choice of using Hallet OR tracing
	2K

*100%
	*A’s money used to purchase land
	*B’s money used to purchase land

	Gamble
	0
	*D’s money used to gamble
	
	


1. Land

a. Money is coming out and D has money in the account

b. So each P can use Hallet or trace

i. They wouldn’t use Hallet b/c conditions of Hallet are met and D’s money would be used to purchase the land

ii. So A and B use tracing so they get the land

4. Restoration

a. General

i. This is a modification when money comes into the account

ii. When wrongdoer puts money into the account, use the money the wrongder put in to restore money spent from righdoer’s amount

b. Rule
i. When D puts money into the account, D’s money is used to “restore” P’s stolen funds

c. Application 

i. LIFO with restoration

LIFO w/ restoration

	Event
	Account
	D
	P1
	P2

	D’s funds
	2K
	2K
	
	

	Theft P1
	4K
	2K
	2K
	

	Painting bought
	2K

*Under traditional LIFO, P1’s money would buy the painting
	2K
	--
	--

	Theft P2
	4K
	2K
	--
	2K

	Races
	2K

*Under traditional LIFO, P2’s money used
	2K
	--
	--

	Restoration
	2K

*We know the next purchase will go up to 12K, so use restoration 

Restoration is taking money that D put into the account to restore P2’s stolen funds – taking money from the D (D’s money goes to 0 and put the money into P2’s column which used to have 0 and now has 2)
	--
	--
	2K

	Stock
	0K

*Under traditional LIFO, D’s money would buy the stock


	--
	--
	--


1. P1’s money buys the painting
2. P2’s money is restored from being spent on the races to purchase the stock (takes money that D put in to restore P2’s money)

ii. Hand w/ restoration

HAND w/ restoration

	Event
	Account
	D
	A
	B

	Theft from A
	2K
	--
	2K

*100%
	--

	Theft from B
	4K
	--
	2K

*50%
	2K

*50%

	Vacation

*non-traceable event
	2K

*If the money that had come out of the account from rightdoers and the thing the money bought goes up in value – do we want to restore money from people who don’t need restoration b/c of the increase

*But here, no increase in value of what A and B’s money bought, so maybe use restoration.  
	--
	1K

*50%
	1K

*50%

	D puts in $2K

**BUT using restoration
	4K

*Here, restore from the amount D put in the same amount to each (A and B)
	--
	2K

*50%
	2K

*50%

	Land bought
	2K

*Land is ½ A and ½ B
	--
	1K

*50%
	1K

*50%

	Gambling

*non-traceable event
	0K
	--
	--
	--


1. A and B each own ½ of the land

a. When increase in value of land to 20K

i. A gets 10K

ii. B gets 10K

2. *Here, D’s money is used to restore the amount of A and B’s money that is lost (spent on a non-traceable asset)

iii. FIFO with restoration

FIFO and restoration

	Event
	Account
	D
	P1
	P2

	Theft A
	2K
	
	2K
	

	Theft B
	4K
	
	2K
	2K

	Vacation
	2K


	
	*P1’s money pays for vacation
	2K

	D’s funds
	4K
	
	2K
	2K

	Land
	2K
	
	
	

	Gamble
	0K
	
	
	

	
	
	
	
	


VI. Steps: (??WHERE DOES THIS FIT IN???)
a. Was there enrichment?

b. Was enrichment unjust?

i. Did person who got enriched do anything wrong/unjust in their behavior?

1. When person enriched did something wrong, more likely to find unjust

ii. Was worker legitimately contracted to do the work by someone with a legal right?

1. Where legitimate contract, then not a volunteer, so will be unjust

iii. Was the person that did the work specifically (or even implicitly) told not to do the work, and did it anyway?

1. Where person did the work even though he was told not to do the work, then more likely to be a volunteer and less likely to be unjust

REMEDIES FOR HARMS TO PERSON
I. Damages for Medical expense and loss of earning capacity

a. General
i. Compensatory damages awarded to a person as compensation, indemnity or restitution for harm sustained by him

ii. Damages for person injuries divided into 3 categories

1. Expenses incurred as the result of the injury

a. Medical expenses, hospital expenses

2. Damages to compensate for time losses

a. Ex. Loss of earning capacity

3. Pain and suffering

a. Inability to enjoy life, unable to move in certain ways

4. *These can be further divided into 2 categories

a. Expenses and time losses incurred to the date of trial

b. Future expenses and time losses

b. Measuring the loss
i. Medical expenses

1. General

a. Reasonable cost of medical care, services, and attention made necessary by the tortiously caused injury

2. Rule

a. P can recover for medical expenses, including past (accrued prior to trial) and future (predictable over a post-trial period)

ii. Earnings losses

1. General

a. Can be actual losses OR the loss of the capacity to earn compensation if the injured person is not employed at the time of the tortiously imposed injury

i. Actual earnings at the time of the injury constitute good evidence of lost earning capacity

ii. It is the loss of the capacity itself that is compensated

2. Rule

a. P can recover for earnings losses, including pas (accrued prior to trial) and future (predictable over a post-trial period)

3. When P gets paid today for future losses (gets the money in advance)
a. P is getting the money today but it is to compensate for the future

i. Have to figure out what the money would be in the future (how much D owes P in compensation) and then reduce it to the present value today (by taking the compensation amount and reducing it by the amount of interest P will accrue over the time period so that the end result is the compensation amount over time with interest
ii. If gets $104 and the bank pays 4% interest, the present value is $100 b/c in one year, it will be worth $104 due to interest

b. Rule

i. When P gets paid for future losses, P gets the present value instead of the actual amount b/c P will invest it now and when the future loss comes about P will have the actual amount

c. Steps
i. In getting paid for future losses, P gets the present value instead of the actual amount
ii. Question: How much money does D have to give to P today which, invested at X percent for Y time will turn into the amount that the jury awarded (that D owes P for the future loss)

1. Depends on the interest the money is invested in

a. P will argue that she will invest at a low rate of interest so that the present value is more

b. D will argue that the money will be invested at a high rate of interest so that the present value is lower

2. With future earnings

a. P will maximize the number of years she will work

b. D will minimize the number of years P will work

c. P will maximize the amount of money she would have earned per year

d. D will minimize the amount of money P would have earned per year

iii. Pain and suffering
1. General
a. Includes not only the discomfort of pain itself but generally also loss of quality of life that results from the injury

i. Includes physical and psychological pain and loss of ability to participate in activities you would usually do

2. Rule

a. P can recover for pain and suffering, including past (accrued prior to trial) and future (predictable over a post-trial period)

3. Application
a. Determining how much pain and suffering to ask for
i. Get lawyers and journals that report similar damage amounts given by juries in a specific jxn

b. Someone who cannot communicate their pain and suffering (like an infant) can still recover for pain and suffering damages
i. Can allow 3rd party testimony to come in to interpret the injured party’s pain and suffering

c. Under the Federal Tort Claims Act, the purpose of pain and suffering damages is to make the person feel better, SO when P was in a coma he couldn’t enjoy the benefits of the money so P couldn’t recover pain and suffering damages

i. If P were allowed to recover, P wouldn’t get any direct benefit, so the award would be punitive

d. Damages when there is suffering without physical injury

i. Courts reluctant to allow recovery where IIED or NIED b/c no physical injury has occurred

ii. Jury would have to measure damages based on what they would view as personal compensation for undergoing the hardship, which is NOT allowed
REMEDIES FOR INTERFERENCE WITH PROPERTY INTERESTS
I. Physical damage to property

a. General
i. When either personal or real property suffers physical damages, there are 2 principal elements of potential loss:

1. Diminution in value of the property itself
a. P introduces expert testimony concerning the market value of the property before and after the D’s actions

b. Courts have increasingly looked to the cost of repairs as at least good evidence of diminution in value where the property is repairable

2. Loss in the use value of the property

ii. Different theories on what P can recover

1. Barge Bertie rule

2. No harm no foul

3. General Outdoor rule
b. Barge Bertie rule
i. Rule

1. When there is physical damage to property, P can recover: 

a. The cost of repair OR the value of the property before the injury

b. BUT where repairs cost more than the value of the property, payment limited to value of the property prior to accident 

ii. Application

1. Where there is a total/complete loss (cost to fix it is more than car is worth), P gets the value of the property right before it was destroyed
2. Where is not a complete loss, P gets the reasonable cost of recovery, including repairs and an allowance for deprivation of use

3. HYPO: Car destroyed, worth $2500 before, $1000 after and costs $4000 repair
a. This is a complete loss b/c it costs more to repair than the value before

b. So P would get the value before it was destroyed ($2500)

c. But D argues that this is a windfall to P b/c then P gets the $2500 but the car is still worth $1000 (P gets an extra $1000)

i. So D argues that:

1. P should never have more than the value of what the car was before 

ii. And P responds

1. I am the righdoer

2. If I want to repair the car, I have to go into my own pocket to repair it

c. No harm no foul

i. Where the purpose and use of the property remains the same after D’s conduct as before it, P should not recover b/c there is no economic harm

ii. Counterargument

1. It is P’s choice to have the property the way it was before

d. General Outdoor rule
i. Rule
1. If the injury is permanent, the proper measure of damages is the market value of the real estate before the injury, less the market value after the injury

a. *This is a defendant-oriented rule

2. If the injury to real estate is not permanent, then the measure of damages is the cost of restoration

e. HYPO: Market value before injury $25,000, value after injury $10,000
	Repair cost
	Barge Bertie and 744
	743

	$15,000
	$15,000

*The property is not permanently damaged, so just gets the cost of restoration
	$15,000

*The property is not permanently damaged

	$15,001
	$15,001

*Non-permanent
	$15,001

*Non-permanent

	$25,000
	$25,000

*This is non-permanent b/c it doesn’t exceed the market value at the time of injury
	$25,000

*This is non-permanent

	$25,001
	$25,000

*This is permanent, so it is the market value prior to injury
	$15,000

*This is permanent, so gets market value prior to injury minus the market value after the injury


f. Where the “injury” actually makes the property worth more
i. When it costs money to repair it, should P be allowed to recover the cost of repair?

1. Could argue no harm no foul, so there should be no recovery

2. P’s counterargument

a. It is P’s choice to have the painting the way that it was

ii. When there is the increase in value b/c of the injury, who should get the increase?
1. P’s argument

a. D shouldn’t get it b/c then D would be unjustly enriched

i. D shouldn’t be able to benefit from his wrongful acts

ii. Person who did the work without request shouldn’t get paid

iii. When repairs increase the value/useful life of what P had before

1. Dock built and had a 41 year life expectancy.  Then D damaged it at year 16 (so 16 years had gone by, and 25 years were left).  The cost of repair was $84,000 and repairs added an extra 10 year life expectancy.  The question, is what D should pay for?
a. Rule

i. One rule
1. Use the years in the future from the point of the accident (25 years left in life expectancy, plus 10 years added on)
2. Then determine what percentage each party should pay on the cost of repair

3. D pays for the life expectancy it took away

a. D pays for 25 years out of 35 years (71.4% of the cost of repair)
4. P pays for the life expectancy added

a. P pays for 10 years out of 35 years (28.6% of the cost of repair)

ii. Another possible rule

1. Use the years that P has already used (16 years) and the years left (25 years)
a. P pays for the years that have already been depreciated

2. Then determine what percentage each party should pay on the cost of repair

3. D pays for the life expectancy it took away

a. D pays for the 25 years out of 41 years
b. P pays for the 16 years out of 41 years

4. *This approach doesn’t make sense b/c D will only want to use this when the years before the accident are more than the years gained by the cost of repair

g. Recovering for sentimental value of the property

i. Rule

1. There are some items for which you can recover the sentimental value for

a. Items that have been in the family for a long time

b. Items a lot of people would think is reasonable to have a sentimental value for

2. Can’t recover sentimental value for

a. Personal property of personal use, such as wearing apparel and household goods

b. Sentiment which relates to “indulging in feeling to an unwarranted extent” or being “affectedly or mawkishly emotional”

ii. Measure of value

1. Can recover the reasonable special value of such articles to their owner taking into consideration the feelings of the owner. 
2. BUT some courts have indicated that the value is to be measured through “value to the owner” but that sentimental value may not be included in the award. 

iii. When the value of the property has some special/historical/etc value
1. Owner can recover the value to the owner NOT the value on the commercial market 
a. P can present is the proof as to the nature of the property in relationship to its value to him, NOT value on the open market

i. P can recover the historical value as it relates to his personal use and enjoyment

1. Can look at:

a. How much King paid

b. The appreciation he has in knowing he has the gun and telling people he has the gun

b. P can’t introduce evidence of reasonable market value

i. *Now, might be able to do this
REMEDIES FOR FRAUD, MISREPRESENTATION, AND BREACH OF CONFIDENCE

I. General

a. Fraud and misrepresentation

i. Where one party’s choice to engage in a transaction is misinformed by misstatements of another
b. Breach of confidence

i. Where one person delegates that person’s exercise of choice to another (a fiduciary) or where choice is influenced by special considerations of trust and confidence in another person

II. Fraud

a. To recover for fraud, there must be:

i. A material representation made by a party AND

1. Material representation = dealbreaker

a. It is material if it would be likely to induce a reasonable person to manifest his assent OR if the maker knows that it would be likely to induce the recipient to do so

b.  Means that: P would not have entered into the K if he knew about the misrepresentation

2. Can be where:

a. P obtains the very thing that he expected but it is worth less than he was led reasonably to expect

b. P obtains something substantially different from that which he was led to except

c. BUT even if P obtains that which he expects, although there was misrepresentation, LOOK at whether the social interest in the stability of transactions outweighs the social interest in not having one intentionally take advantage of another

3. Some states require an intentional or reckless misrepresentation

4. Some states will allow an innocent or negligent misrepresentation to constitute fraud

ii. The other party must have justifiably relied on the statement to their detriment. 
1. You must have reasonable to believe it AND actually rely on it

2. More guilty the speaker, maybe the less justifiable reliance is required

III. Choice to affirm or disaffirm
a. General
i. When there is fraud, misrepresentation, or breach of confidence that would allow P to sue, P can choose to:

1. Affirm the contract

a. Proceed with the transaction and seek whatever benefit there is in the transaction along with damages for harm caused by the misconduct
2. Disaffirm the contract

a. Rescind the contract and seek restitution
i. *This is an equitable remedy

b. When a party rescinds the contract, each party has to give back what they have

b. Rule

i. Once a party discovers the fraud, the party must affirm or disaffirm the contract

1. Once the party has affirmed, the party can no longer disaffirm (and vice versus)

ii. Factors in determining whether a party can rescind the K

1. *No one factor is determinative

2. P has to show that legal remedy is not adequate

a. If got legal remedy, P would get what item was worth or would have been worth versus how much P paid 
b. The equitable argument is that if P just gets damages, P has to get the item but P doesn’t actually want the item anymore and wouldn’t have bought the item if it had been represented accurately
3. An election by P to affirm the K extinguishes P’s right to rescind

4. Notice to rescind has to be given promptly
a. Tolling the clock

i. Where the parties are in good faith negotiations to settle this in some way, the need to give notice of rescission is tolled 
ii. BUT P not allowed to drag out negotiations to see if the company is a good business

b. Situations where absence of rescission demand is reasonable under all the circumstances
i. Where the value and condition of the property remained constant during the negotiations so that no element of prejudice to the seller came into play

ii. Where the seller’s assurances of a favorable monetary settlement dissuaded the buyer from making an early demand
5. Exercise of acts of ownership over the subject matter of the K will validate the transaction and terminate the power of avoidance, regardless of whether the other party has suffered any prejudice

a. BUT injured party doesn’t need to ignore the business and allow it fail if the other party refuses to take it back upon a timely demand for rescission
b. Rescission still available where the injured party’s actions can be fairly viewed as necessary steps to preserve the value of the business for the one ultimately determined to be the owner

6. P has to return the status quo

a. BUT rescission still possible if the wrongful acts of the defrauding party are what make restoration of the status quo impossible

b. Restatement

i. To rescind, P has to return status quo except:

1. Where the item has become worthless or impossible of restoration by act of the other or because of lack of qualities represented by him

a. Look at misrepresentation/lack of quality

b. Look at why returning to the status quo is impossible/worthless
c. If they are the same, then P can still rescind

d. If they are not the same (if return to status quo is not made impossible by misrepresentation but b/c of something else), then P can’t rescind
7. Mere depreciation in market value will not prevent rescission, and other factors may make the equitable remedy of rescission available even though the property cannot be returned in the same condition

8. Inconsistent statements by the P may undercut P’s claim for rescission b/c it undercuts that there were material misrepresentations
a. Ex. Like P saying it was a good purchase

IV. Damages for misrepresentation 

a. General

i. Where rescission is not allowed, how damages for intentional misrepresentation are measured
ii. Most courts focus on the mind of the speaker

1. The more guilty the speaker (the more reckless or intentional) the higher the damages will be

2. The less guilty the speaker (the more innocent or negligent) the lower the damages will be

iii. Few courts focus on the mind of the listener

b. Damages for intentional misrepresentation

i. General

1. Includes intent to deceive and reckless deceiving

ii. Rule

1. Measuring of damages

a. 3 factors

i. Value as represented

ii. Value 

iii. What was paid

b. Difference between value as represented and the actual value (benefit of bargain)

i. P will argue for this

ii. Courts will more often give this with an intentional misrepresentation 

c. Difference between the amount P paid and the amount it was worth (out of pocket)

i. Courts will more often given this with an innocent misrepresentation

d. Cost of repair, but not more than what was worth at time of representation

e. *Some courts don’t care about mind of speaker and just choose a measure

iii. Application

1. HYPO: P bought house for $20K.  Value as represented as termite-free was $22K.  Actual value with termites is $20K.  Cost to get rid of termites is $4K.
a. Under benefit of bargain (value as represented minus actual value), P would get $3K

b. Under out of pocket (amount P paid minus actual value) P would get $1K

c. Under cost of repair, P would get $4K

c. Damages for negligent or innocent misrepresentation
i. General
1. In some states, no intent or recklessness is required to recover damages for fraud

d. Where there is fraud:

i. No consequential damages provision is unenforceable

ii. Disclaimers on warranties are unenforceable

iii. UNLESS there is a statement in K that is completely antithetical to the misrepresentation(s) made

REMEDIES FOR MISTAKE

I. General

a. 2 general types

i. Mistake in performance of a K

ii. Mistake in the formation of a K

II. Mistake in performance of a K
a. General

i. Restitution most frequently granted

ii. Examples

1. Tenant mistakenly overpays the rent

2. Buyer mistakenly pays more than the K price for goods

b. Rule
i. Restitution for mistake in performance generally granted absent special circumstances in the way of defense that would make restitution inappropriate

1. So, recovery can be had when there is a mistake in payment/overpayment of money 
ii. Other theories/factors involved

1. Equity in good conscience

a. Money paid upon misapprehension of facts belongs in equity and good conscience to the person who paid it

b. So the person who mistakenly paid should recover

2. Assumption of the risk

a. The insurance company knows when it makes a payment that it could be wrong but still makes the payment to avoid the difficult of further investigation or nonpayment, so when the insurance company pays it assumes the risk 
3. Policy theory
a. If insurance company doesn’t get the money back, it will delay making payments until it can investigate fully and the insured won’t get the money as quickly

i. So the person who paid it should get his money back

4. Reliance

a. If the party receiving the money justifiably changed its position in reliance on the money AND it would be a hardship to give the money back, the party should not have to give the money back

b. So if there was justifiable reliance, the insurance company shouldn’t recover the money

c. So if there wasn’t justifiable reliance (either not justifiable and/or no reliance) then the insurance company should be allowed to recover the money

iii. Mistake of fact vs. mistake of law

1. If it is a mistake of fact, the payor can recover the money

2. If it is a mistake of law, the payor cannot recover the money

c. Unilateral mistake

i. Rule

1. To rescind for a unilateral mistake, all of the following must be met:

a. The mistake must be of such grave consequences that to enforce the contract as made or offered would be unconscionable

i. Can look at how much it would cost the party who made the error

b. The mistake must relate to a material feature of the K

i. Has to be something important, a deal breaker

ii. The price almost always considered material

c. The mistake must not have come about b/c of the violation of a positive legal duty or from culpable negligence

i. If very negligent or reckless, the less likely we will allow party to undo error

d. The other party must be put in status quo to the extent that he suffers no serious prejudice except the loss of his bargain

III. Mistake in integration: Reformation
a. General

i. This is mistake in the formation of the K

ii. The remedy is to modify the K to reflect the mistake in integration (equitable remedy)

b. Rule

i. Where both parties make a mistake as to the contents or effect of the writing, the court may reform the writing to express the agreement 

c. Application
i. Since this is an equitable remedy, all relevant theories apply (Ex. unclean hands)
REMEDIES FOR BREACH OF K
I. Land Contracts

a. Rule

i. Vendee’s (Buyer’s) remedies

1. Buyer of property where K breached by seller is usually given specific performance (equitable remedy)

a. Buyer gets the property

b. Legal remedy inadequate b/c the land is unique

2. If no specific performance given, vendee can get damages

a. Gets difference between market value of the property at the time of breach and the K price

b. Can also get consequential damages if they are foreseeable and proven with reasonable certainty

ii. Vendor (Seller’s) remedies

1. Seller receives damages

a. The seller’s damages are measurable, so the legal remedy is adequate 

b. UNLESS there is a showing of unusual circumstances or a change in the vendor’s position
2. Seller can recover the difference between the K price of the land and the market value on the date of the breach

3. Can also recover foreseeable consequential damages, such as additional commissions and other costs of resale and costs of maintaining the property after breach

II. Construction contracts

a. Rule

i. Owner’s (Buyer’s) Remedies

1. Owner/Buyer usually gets substitutional relief

a. Hires a substitute

b. Amount of damages

i. Usually, the excess of the cost to complete over the unpaid contract price

1. Reasonable cost of the performance of the work
ii. BUT where provision breached is incidental to main purpose of K AND economic benefit to owner is grossly disproportionate to the cost of performance, then owner can recover: 

1. Diminution in value resulting to the premises because of the non-performance (reduction in the value of the property b/c of non-performance)

b. Application


i. Where contractor doesn’t complete job for owner b/c owner repudiates, but does some work, but contractor would lose money if he were to complete the job
1. P’s argument
a. I finished X percentage of the work, so D should pay me X percent of what he would have paid me

2. D’s argument

a. No harm no foul, P is saved money by not doing it, so D shouldn’t have to pay P anything

3. Could force D to pay the reasonable value of P’s services

4. Could argue that D (owner) is the wrongdoer for repudiating, so P should get paid
III. Employment and Service Ks

a. Rule

i. An employee wrongfully discharged recovers the salary that he would have earned, including both wages and other benefits, but for the employer’s wrongful termination

ii. BUT P has to mitigate damages

1. If P accepted any other employment, the wages from that employment gets deducted from the wages P would have earned

a. P recovers wages from terminated job minus wages from replacement job

2. If P turns down available employment:

a. If the other employment is substantially similar to terminated job, the wages from the available employment are deducted from the wages P would have earned

i. P recover wages from terminated job minus wages P would have earned in substantially similar job

b. If the other employment is NOT substantially similar to terminated job, P receives the entire lost wages

b. Application

i. Determining whether a job is substantially similar

1. Look at the jobs’ similarities and differences through the facts

2. Dissent

a. 2 part test

i. Objective

1. Experts to testify as to whether the second role was substantially similar to the first

ii. Subjective

1. Whether to this person, this subjectively different employment
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